SCEW(Main) — 2017 — Set -1 *
GS & LA
08385

PAPER -1
: INSTRUCTIONS TO CANDIDATES :

THIS BOOKLET CONTAINS 100 QUESTIONS OF 1 MARK EACH IN 16 PAGES.
PLEASE CHECK THE QUESTION-SET BEFORE USE. IF ANY DEFECTS ARE
NOTICED, PLEASE BRING IT TO THE NOTICE OF THE INVIGILATOR.

Read the instructions carefully before using the OMR answer sheet provided.

2. Fillin Part—A of the OMR answer sheet first, mentioning the Roll No., Set Code and
other data as applicable in the place(s) indicated therein and darken the appropriate
circles in blue or black ball point pen only. '

3. While darkening the circle in Part— B of the OMR answer sheet, use blue or black ball
point pen only. Use of pencil is not allowed in the Test. Darkening of more than one
circle/option shall not be taken for evaluation.

~ 4. Do not write any name/surname or put any symbol, sign, slogan, prayer or any mark
of identification in Part — B of the OMR answer sheet. Any such act is liable to
render the answer sheet unfit for evaluation.

5. Do not use any other form except the OMR answer sheet provided along with the
question-set.

Do not tamper with the bar code or any other portion of the OMR answer sheet.

7. Candidates may use the blank sheet attached to these instructions for doing the rough
work, if needed.

8. - Do notattach any additional sheet orbaperto the OMR answer sheet.

9. Returnthe OMR answer sheet only to the invigilator before leaving the examination
hall. h

. 10. Candidates may take with them the respective question-sets after the examination is
over.

11. Mobile Phone or any Communication Devices is not allowed inside the Examination
Hall. The candidates are strictly advised not to carry any Mobile Phone or
Communication Devices with them into the Examination Hall. Any candidate whois in
possession of Mobile Phone/Communication Devices inside the Examination
Hall is liable to be debarred from the valuation of his/her answer paper.

12. Violation of these instructions shall entail disqualification of the candidate.
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2. Matchthe capitals in Column —Awith

SCEW(Main) — 2017 — Set — 1
GS & LA

PAPER -

Time : 1 ‘?—fhours

Full Marks : 100

Each question carries 1 mark.

Answer all questions, choosing the correct one from the altematives suggested and
darken the appropriate circle using BLUE or BLACK BALL POINT PEN.

1. Which of the following Indus Valley Answers | @) 1 ®) [©) 1@ @
Civilisation sites is npt located in 0 ) | (vi) | (v) | iy | GiD)
India 7 2 [ i) | @ | G| G
(1)  Alamgirpur (3) [ (v) [(iv) | (D) | (vi) | (ii)
@ Ami @ [ [ @ |G

(5) () | (vi) | (i) | (iv) | (ii)

(3) Dholavira
(4) Lothal 3.  Which of the foliowing is the largest
of the Buddhist texts ?

(8) Surkotada . |
(1) Abhidhamma Pitaka
, . (2) Deepvahsh

the Mahajanapadas in Column — B )

and select the correct set of answers (3) Mahavansh

from the table below : (4) Sutta Pitaka

Column-A  Column-B (5) Vinaya Pitaka
(a) Kampilya (i) Assaka 4. Fourofthe following languages were
(b) Kaushambi (i) Chedi ‘ used in the in_scriptions of Ashoka..

' | Identify the language that was not
(c) Paudanya (i) Kosala —
(d) Shravasti (iv) Mathura (1)  Armaic (2) Greek
(e) Suktimati (vy Panchal (3) Kharoshthi (4) Prakrit
(vi) Vatsa (5) Sanskrit
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Which of the following batties was
fought between Jaichandra and
Muhammad Ghori ?

(1) Battle of Chhandwar
(2) First Battle of Tarain

(3) First Battle of Waihind 10.

(4) Second Battle of Tarain
(6) Second Battle of Waihind

To which of the following dynasties
did the famous King Krishnadeva
Raya belong ?

(1) TheAravidu dynasty : 1"

(2) The Hoysala dynasty
(3) The Saluva dynasty
(4) The Sangama dynasty
(5) The Tuluva dynasty

- Who is the founder of the ‘Servants

of India Society’ ?

(1) RajaRammohan Roy
(2) Gopal Hari Deshmukh
(3) Jyotiba Phule

(4) ' Gopal Krishna Gokhle
(6) Hridayanath Kunzru

12.

In which year did the Chauri-Choura
incident take place ?

(1) 1919
(3) 1922
(5) 1927

(4) 1923

Which among the following towns
in Odisha is located closest to
the standard meridian of India,
i.e., 821°E?
(1) Balangir

KY - 1A/13 (4)

2 1920 13.

(2) Bhawanipatna
(3) Malkangiri .
(4) Nabarangapur
(6) Rayagada

Which of the following hill stations is
located in a different area than the

~ otherfour?

(1) Dareeling (2) Lansdown
(3) - Mussoorie (4) Nainital

(5) Ranikhet

Which among the following lakes in
India is the largest in terms of its

area?

(1) TheChilika

(2) ThePangong Tso
(3) ThePulicat

(4) The Vembanad
(5) TheWular

Which is by far the largest of the soil
groups found in India ?

(1) Alluvial soit (2) Arid soil

(3) Blackscil (4) Laterite soil
(5) Red soil

Which of the following rivers in India

is different from the other four in
terms of the direction of flow ?

(1) The Mahi

(2) The Pennar
(3) The Periyar
(4) The Sabarmati
(8) The Saravati

Contd.



14.

15.

In which season do the western

disturbances from the

Mediterranean Sea area enter into
North-West India ?

(1) Early summer season

(2) Rainy season

(3) Retreating monsoon season
(4) Spring season

(5) Winter season ‘
Which of the following crops is grown
in India in a differerit agronomic
season than the other four ?

(1) Cotton (2) Jute
(3) Maize (4) Mustard
(5) Rice |
16. Which district is the largest pfoducer
of mica in India ?
(1) Bhiwara (2) Géya
(3) Hazarbagh (4) Kodarma
(5) Nellore |
17. Which among the following countries
is the smallest in size in South
 Asia ?
(1) Bhutan (2) Maldives
(3) Nepal (4) Singapore
(5) Srilanka
18. Match the capitals in Column - A
with the corresponding countries in
Column — B and select the correct
KY -1A/13

set of answers from the following
table.

Column-A  Column-B
(@) Kiev (i) Albania
(b) Nicosia (i) Croatia
(c) Reykjavik (iii) Cyprus
(d) Valletta (iv) Iceland
(e) Zagreb (v) Malta

' (vi) Ukraine

Answers | (a) | (b) | (c) | (d} I(e)

() i) ] @) | Gv) | (v) | (i)
2 i) | Gy | @) 4 @v) | G

(3) | (vi) | (iii) | (iv) | (v) | (i)

(4) [ (i) | (i) [(iv) ()] ()

(5y | () | i) | (v | (vi) | Cii)

19.

20.

21.

Which of the following internationat
organisations is not a specialised
agency of the UNO ?

(1) 1AW (2) iFAD
@) IO @) IMF
(5) MO

Which of the following animals does
find a place in the logo of the World

.Wide Fund (WWF) for nature ?

(1) Bison
(3) Cheetah
(5) Panda

(2) Black Buck
(4) Kangaroo

Who among the following Nobel

Laureates in literature is the author
~ of the novel “The Buried Giant” ?

(1) Alice Munro

(2) Doris Lessing

(3) Herta Muller

(4) John Maxwell Coetzee

- (5) Kazuo Ishiguro
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22.

23.

24,

25.

Who among the following Pulitzer
Prize awardees has got the prize for
his/her debut story collection
“Interpreter of Maladies”?

(1) Gobind Behari Lal

(2) GeetaAnand

(3) Siddhartha Mukherjee
(4) Jhumpa Lahiri

(8) Vijay Seshadri

Which of the fallowing Odia novels

has been written by a different author

than the cther four ?
(1) Jaksha

(2) Lalatalikhana
(3) Matimatala

(4) Manamanthana
(8) Nirbisanka

In which of the following are the optical
fibers commoniy used ?

(1) Communication

(2) Electrical transformers
(3) Musical instruments
(4) Nuclear reactors

(5) Rocket technology

What happens to the mercury level in
a barometer, when it is taken down
into a coal mine ?

(1

It does not change

(2) lifalls

(3) Mt falls first and then rises

(4) Itrises

(5) [Itrises first and then falls
- KY-1A/13

(6)

26.

27.

28.

28.

(1)

A permanent magnet repels :

Both diamagnetic
ferromagnetic substances

and

(2) Both diamagnetic and
paramagnetic substances

(3) The diamagnetic substances
only
The ferromagnetic substances

only
The paramagnetic substances

only

What is the angle in which a cricket
ball should be thrown so as to reach

(®)

- maximum distance ?
(1) 15°
@ 221°
(3) 30°
(4) 45°
(5) 60°

Which of the following laws is
applicable in case of the hydraulic

_brakes used in the automobiles ?

(1)

Archimedes' principle

(2) Bernoulli's principle
(3) Pascal's law

(4) Orifice law

(5) Torricelli's law

In a foggy day the visibility is poor,
because of :

(1)
(2)

Diffusion of light
Reflection of light .

(3) Refraction of light
(4) - Scattering of light
(5) Total internal reflection
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30.

31.

32.

33.

34,

35.

Which among the following alloys is

most suitable for making the heating-

elements for high heating electric
devices ?

(1) Alloysteel (2) Alumel

(3) German siver (4) Nichrome
(5) Solder

Which of the following pairs of
additives to glass and the colours
they produce is not correctly
matched ?

(1) Antimony oxide — white

(2) Cadmium sulfide — yellow

(3) Chromic oxide — emerald green
(4) Cobalt oxide blue — violet

(5) Iron oxide - red |

What is the process by which nylon
is obtained ?

(1) Distillation

(2) Evaporation
(3) Hydrogenation
(4) Polymerisation
(5) Sublimation

Which of the following crops is not

used for green manuring ?

(1) Alfalfa (2) Cotton
(3) Daincha (4) Sesbania
(5) ‘Sunhemp

Coliagen is basically

(1) Carbohydrate (2) Cartilage
(3) Fat (4) Polymer
(5) Protein -

Who discovered the cell membrane ?
(1) Camillo Golgi

KY-1A/13

36.

37.

38.

39.

40.

(2) Christian de Duve

(3) George Palade

(4) Robert Brown
(5) Robert Hooke

Which of the following diseases is
characterised by inflammation of the
membranes covering the brain and
the spinal cord ?

(1) Llaryngitis (2) Meningitis
(3) Pharyngitis (4) Sinusitis

(5) Tonsillitis

Which of the following pH values.

of the soil indicates that it is highly
acidic ?

(1 1 2 5
(@) 7 (4) 10
5) 14

Which of the following soils is most
suitable for cultivation ?

(1) Clay (2) Clay loam
(3) Loam {4) Sandy loam
(5) Silt

Which of the following African
countries has been visited recentiy in
October, 2017 by the Hon'ble
President of india ?

(1) Botswana (2) Dijibouti
(3) Rwanda (4) SouthAfrica
(5) South Sudan '

Who is currently the Chairman of the
State Bank of India ?

(1) Arundhati Bhattacharya
(2) B. Sriram

(3) Dinesh Kumar Khara
(4) P K Gupta

(5) Rajnish Kumar

(Tumover)



41.

42.

43.

44,

Who among the following nominees
for Nobel Prize for the year 2017 is
affiliated to the Massachusetts
Insitute of Technology (MIT), |
Cambridge, USA ?

(1) Jacques Dubochet
(2). Reiner Weiss '
(3) Joachim Frank

(4) Michael W. Young
(5) Michael Rosbash

Who among the following Cabinet
Ministers of the State Government of
Odisha at present has become a
minister in the Cabinet of Sri Naveen
Patnaik for the first time ?

(1) Sri Maheswar Mchanty
(2) S Niranjan Pujari

(3)  Sri Prafulla Samal

(4) . Sri Sashi Bhusan Behera
(5) Sri Surya Narayan Patro

Which was the first of the matches of

. the FIFA U-17 World Cup, 2017
- played in India during October, 2017 ?

(1) Brazil Vs. Spain

(2) Colombia Vs. Ghana
(3) India Vs. United States
(4) New Zealand Vs. Trukey
(5) Paraguay Vs. Mali

Which of the following port trusts has
been recently renamed as the
Deendayal Port Trust ?

(1) Ennore

(2) Kandla

(3) Krishnapatnam
(4) Mormugao

(5) . Tuticorin
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46.

47.

48,

49.

507

. Which film is.going to be the India's

official entry to the Oscars for this
year, 2017 ?

(1) Court (2) Newion
(3) Liar's Dice (4) The Good Road
(6) Visaranai

Which of the fo!lowihg components
used in the computers has a volatile

.memory ?
(1) CDROM

(2) Floppy disk
(3) Hard disk (4) Pendrive

(5) RAM

Which of the following is presentation
software belonging to Microsoft
Office family ?

(1) Microsoft Access

(2) Microsoft Excel

(3) Microsoft Outlook

(4) Microsoft Power Point

(5) Microsoft Word

Who among the following is a

- Hindustani Classical Singer ?
(1) Anita Ratnam

(2) Gangubai Hangal
(3) Geeta Chandran

(4) Leela Samson

(5) Mrinalini Sadananda

Which of the following folk dance
forms of India is indigenous to the
Bedo tribes of Assam ?

(1} Bagurumba (2) Bhortal
(3) Changlo (4) Cheraw
(5) Singhi Cham

‘Which of the following traditional art

forms is also called the Mithila Art ?
(1) Kalamkari (2) Madhubani
(3) Pattachitra (4) Phad

(5) Warli
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Direction (Q. Nos. 51 to 70) ;: Choose 57

the correct alternative.
51. My fatherworksin ministry
of finance.
(1) with (). a
(3) the (4) an
(5) Nonedfthese
52. Shankar is ill, and he has to go to 58,
hospital. .
(1) ‘ the (2) an
(3) a (4) by
(5) Noneofthese
53. One of my friehds. a fine
collection of books.
(1) have, (2) has
(3) is (4) are
(5) was S 39.
54. Barley, wheat and rice .
cereals.
(1) is (2) are
(3) was (4) were
(5) have
55. Twenty miles not a gfeat
distance in these days of rapid travel.
(1) is (2) are . 60.
(3) was (4) were
(8) have
56. Mumps aserious iliness for
grown-up pecple.
(1) is (2) are
(3) have (4) has
(5) were
KY - 1A/13 (9)

That pair of scissors to me.

(1) belong

(2) belongs

(3) belonging
(4) has belonged
(5) did belong

Just glance . this for me,

would you ?7

(1) for

@) at

(3) on

(4) with

(6) to

Shalt | compare you —_____-a

summer's day ?

(1) with

2) to

(3) for

(4) from

(5) in

| am afraid, 'm strongly prejudiced
him.

(1) fdr

(2) with

(3) against-

4) at

(5) by
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61.

62.

63.
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The thief (just)

(1) has got

@ got.

(3) had got

(4) “having got

(5) was just getting out

if only we as we were told |

This would never have happened.
(1) havedone

(2) would have done

(3) did

(4) wasdone

(5) were doing

I've asked you a thousand times not

to leave your dirty socks on the floor.
you keep doing it.

(1) Yet

(2) But

(3) Often

(4) Stili

(5) Though

| don’t hate Jim.

fond of him.

(1) Contraryto
(2) Nonetheless
(3) Notwithstanding
(4) On the contrary

5) However

, 'm rather

out of the
window when the police arrived.

(10)

65.

You often (play) football at the
university.

(1} Doyou oﬂe-n play ?

(2) Did you often play ?

(3) Had you often played ?

4) Havé you often played ?

(5) Could you often play ?

66. Who taught you to ski?

67.

(1) Who was taught you to ski ?

(2) By whom was you taught to
ski ?

(3) By whom were you taught to
ski ?

(4) By whom are you taught to
ski ?

(5) Were you taught to ski by
anybody ?

Please post the letter.

(1) Let the letter be posted.

(2) You are requested to post the

letter.
(3) The letter should be posted.

(4) The letter should have been
posted.

(5) The letter is to be posted.
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68. Never live beyond your means.

(1) You are requested not to live

beyond you means.

(2) He told us that we should

never live beyond our means.

(3) - We are not supposed to live

beyond our means.

(4) You are directed not to live

beyond your means.

(5) We are advised not to live

beyond our means.

69. |was given abook by my friend.
(1) My friend gave me a book.

(2) 1gave a book to my friend.

(3) A book had been given to me.

(4) My friend was given a book.
(5) My friend had given me a
book.

70. What a beauty you art‘e‘!
(1) Declarative
(2) Exclamatory
(3) Imperative
(4) Interrogative

(5) None of these

KY - 1A/13 \ (1)

Direction (Q. Nos. 71 to 75) : Read the
following paragraph and choose the
correct answer from the choices given
below. '

It seems quite clearly unjust to pay
two people different amounts of money for
doing the same work. But it is not as easy
at it appears atfirst sight to introduce equal
pay for equal work.

First of all, one must be sure that the
work is in fact equal. Two people may be
working side of side in a factory and doing
the same work, but one may be doing it
twice as fast as the other ; or one may, be
making no mistakes, while the other is
making a lot. In some Kinds of work, one -
can solve the problem of speed if one pays
by the amount of work done and not by the
hour : work -paid for in this way is called
piece-work. But it is not always possible
to do this, so it is sometimes useful to pay
workers at different rates, which take
differences in skill into account. This
usually means that the younger and
therefore less experienced worker gets
less than the oider and more experienced
one, which seems reasonable enough.

What does not appear to be so
reasonable is when two equally skilled,
equally fast workers receive different rates
of pay. In some countries, for instance,
women are paid less than men for the
same work.

The employers’ argument in places
where this happens is that men usually have
a wife and children to support and women
usually have not. They say that most
women workers are either unmarried and
have no one to support, or have husbands

(Turn over)



who also work and bring home money, sO
that it would be unjust for them to be paid
as much as a man who has a wife who
does not work because she has several
children at home to look after.

This, of course, is quite true ; but you
do find some men workers who are
unmarried and have no one to support, and
some women workers who are windows
and have children to support. Other women
wokers, though they have no children, may
have old or sick parents and young brothers
and sisters who cannot yet work.

The factis that the problem of paying
workers according to their family needs
cannot be solved simply by giving the men
more and the women less. The answer is
to pay both alike, and to leave it to the state
to see that justice is done by means of
taxation and allowances.

71. What looks unjust ?

(1) Not pay same amount for
same work.

(2) Women are inferior to men
(3) Men are superior to women
(4) Equal work unequal payment
(5) Equal payment unequai work

72. Whatis meant by piece-work ?
(1) Work done in piece
(2) Work compieted within a fixed
hour

(3) Quality of work is more
important than quantum of
work

(4) Amount of work done by the
hour

(5) None of these

KY =~ 1A/13 ‘_ S (12)

73. What appears to be irrational ?
(1) Equal pay for equal work
(2) Discrimination in payment for
the same quantum of work
(3) No equality in payment
(4) No respect for skill
(5) None of these

74. Howdoes a male worker defined the

inequality in payment ?

(1) Men have responsibility to look
?ﬂer their wives and children

(2) Women don’'t have such
responsibilities

(3) Most of the women workers
are unmarried

(4) Some of the women have
husbands to eamn

(5) None of these

75. What is the viable solution to this
problem of inequality'in payment ?
(1) Labourers irrespective of sex

should be paid according to
their skill

(2) Young labourers should not be
paid more than the old
because of their experience

(3) A woman with more than three
children should not be paid
more ‘

"(4) A male worker having more
than one wife should not be
paid more

(5) None of these
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76.

77.

78.

Boea goa 9e/aeqgde Mg 6Qel
QeQIN ?

(1) 9 (2) aid
(3) 4 (4) Q198
(5) e«

F1gig 32l 8 | — 6a8IRe aed 6RQ
Qa8 7

(1) I ded (2) N FeS
(3) ¥ di3ed (4) s led
(5) ‘o1 Se8

‘o8’ — Rl 6RW ANIA ?

(1) Qg ama

(2) ©Q9gs A

(3) Q@ a9IQ

@) <ge® aniQ

(5) VMRS AAIQ

79. 1, ", 1, ,,,6,6 — 4@ &g«
A°CROGET @'§ AN ?
(1) gl 2) aw
3) 4@ 4) Baie
(5) JATL
80. GOREO G0gRe FAUR 6RUE G 84 7
(1) eaiger (2) g€
(3) [P (4) eal
(5) 6P
81. NIRQE ZGAIG OQ 660 gRIQ ?
() sgee (2 meeE
(3) ¥ geia (4) %998
(5) 9gxQ
KY —1A/13
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82.

- 83.

. 85.

86.

87.

(1) geee!

‘eriiaia agl’ — IRasa geid @4l |

(1) e@Eal (2) GriQl
(3) &ara 4y ol
(5) dalQl

MIQ A2 YOUA 6RITRER 68l 8@ 600
g4 QIf '€ gRIAINM ? |

(1) ge8  (2) ofe
(3) &ee (4) Aw8
(5) Qe

ScoaY 99 FPQ F6984 9 @€ ?
(2) ediewy
(3) edleqyel (4) 9w

(5) g%

80160 go8 SREER IQ 6960 UNER
goae @I aeQIR 6@ G6E ?

(1) esuq (2) *a
(3) ‘Q, (4) (g b
(5) Q=

‘e apae QUdl,
a4 SI6e 9191 18 I” — Y9! 698 89

Aga?

(1) eag (2) auasea
(3) 601@  (4) Qg .
(5) QIEAIG

‘Zgge’ aea JaQIe det R'a ?

(1) age (2) dige
(3) @ae (4) dge
(5) gy

(Tumn over)
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88. ‘ARGIGAIEH aaR, Uide 6 Bde-
UGS UG’ — 12 @ gRIR QUM 7
(1) Ggagee (2) UEREgeR
(3) 998qeR (4) g4qee
| (5) - Agiey |
89. QR4 FORER 69R NS 94 ?
(1) 9a G608 (2) 1M G0
(3) wei13e8 (4) 8 Ied
(5) 99138 |
90. “‘QIEQ cAeER”’ — <@ @@t ud
Q'€?
(1) &gz (2) o=
(3) zedage. (4) QUK QI9
(5) cIRea

91. ‘caeel’, ‘caece 6n@de’ — <@

geie of @Rt @9 Rl @A8d 7
(1) QRIGE QIR

(2) ygeR Qe
(3) SRR 65620
(4)' oReada fg
{5) CRNAEAILR EARIAT

92. BgRTe ANMGRR FUQ 6RUE JRIIRD
qere ereae 48 ?

(2) egaol

4) afa

(1) o<

(3) ogaual
(5) PN

KY - 1A/13 : (14)

93. 6PGIA YR gHYIO §RF RIMNRITR &
*Fea QIR sasisig 98 gada

IR e 7
(1) ofe! (2) @gal
(3) e (4) equipIdel
(5) GeRIQe
94. “of Gia6e gral AR,
Q660 PRI 6QF oIq et I”” — Rl
60 ZRRIR ?
(1) 699 (2) IR

(3) Qecacm@ (4) aga
(5) @R

95. QJQLY AREae QEw ade Guiie cal
sRIeda ‘o’ @ QIn @'a ?
(1) Qedia ogIR of
(2) QeaIQOQINR o
(3) Qeslqn o9
4) @FeIeH
(5) 96ReQRIA oM
Peel (g. 9° 96 @ 100) : goR OP6ReE
Of OR6FTR 6ATRIEIER L JIEE ARG

goIR R

AR AQYY FR1QQ AQOIQ ¥REQ, ARG |
Q! 609 9998 QER6R 26Q AT F64 O

Qeca 9fde, agQ €9 62l P AIHER
26 AP g6T | AALAIYIFIEH 928 6aQ

 6RIR RAAER 651BR 6N SR 6 ANFAIR
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QIQ 62IRUIAE 6QIR @EQIg 629 AR QI
216R RUOR LA 629 FGIACANGH §6L | Q68
8 gd ol'a gR G RUFER NGRS 6
QQIdeq sl 9IF | 4B ZRGRI 626k HeR
Q1 8 gGelan 96 RN AIg EAITN PI@
U@ 2RI CARCR, Q2 AGHR | A6R caIE
@0 IR gIIcieR 160 GOIQ B 'Q AR

£4 60, s282 o adie 6d 2@ A0aIEa AF |

2ged 6 gef o AR @eIgq artard |

966 OBgR K6M 6I'R NBAP AUNER AERQ
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